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GENERAL INSTRUCTIONS:

i. Question paper comprises six Sections — A, B, C, D, E and F. There are 37 questions in the

question paper. All questions are compulsory.
ii. Section A — From question 1 to 20 are MCQs of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks

each. Answer to each question should not exceed 40 words.
iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each.

Answer to each question should not exceed 60 words
v. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.

Answer to each question should not exceed 120 words.
vi. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and

are of 4 marks each
vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37(a) from

History (2 marks) and 37(b) from Geography (3 marks).

viii. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions must be attempted,
ix. In addition to this, separate instructions are given with each section and question, wherever

necessary.

GG [3G9F

i gy R 8e S E- A B C D, E INF. GY 7037 GY &1 T 78 a1 &1

i T4 Y1 20 GEMCQ & JAF 1 I BTE/

i TR Y TET2] T24 TG TTITTY & FAF 2 3 FT &1 HAP 74 FT T 40 Tl
G /9% T&] 617 TeT/

. @SC TTH25 @29 TG ITTHTTH & TP 3 3/ FI &1 TP TY FT TR 60 W3] G A%
7&1 817 FET/

v TED— JHTEIT30 G33 FF TTITTY & TAF 5 3 FT 81 JAF T4 FT TV 120 Tedl §
1T Ta] 617 AT/

i TE— T T34 T 36 T BT T 75 & oy 7 TT 7y & 3T 7T 1 FH FTE/
i TEF— DY T34 D36 TF ST T gy & for70 di7 JT 78 & 3R gl 4 & BT 61
37 GAF STERT 8 [ad T W8 37(w) STO6TT (2 9@ SIT37(h) YT (3 o)

viii. TYTT T HIE TIY 3FT T8 81 FIli, Fo 74T 3 0 Hialds [deey [aqr 191 81 08 78T
'q FacT Yep Jdepey &1 JIIY 147 o7l Al g/

x. ST T TET U} HTTTH &) TP HTHIT I T 3 I AT S G [T TT &1




SECTION A/ G& &
MULTIPLE CHOICE QUESTIONS/ 9§ fd@edla Uy 1X20=20

. Who said “When France sneezes, the rest of the world catches cold’.

A. Mazzini B. Metternich
C. Bismark D. Cavour
I.Wﬁwm aauom Stoar g, dIaTe] AT P el T STl 87
B. Ao
C ﬁmﬁ D. W

2. Maich the item is column A with those in column B. Choose the correct answer from the options
given below., |

Column A Column B
a. [928 i. Khilafat Commuittee formed
b. 1919 | ii. Hindustan Socialist Republican Army established
c. 1920 iii. Depressed Classes association formed
d. 1930 iv. Indian Industrial & Commercial Congress formed
Options:

A. a(tit); b(iv); c(i); d(i1).
B. a(iv); b(1i1); c(i1); d(1).
C. a(tl); b(1); c(iv), d(111).

D. a(11); b(1v); c(itn); d(1).

2. DI A H G Y 311geH &) Hiaw B 7 AT TE 3irscH T fHam | :ﬁ%ﬁnwﬁwﬂﬁﬁﬂé’r

ITH A ) HIH B
a. 1928 i. RIAThd AT 1718
b. 1919 i, fegtam Trarfere Rufseta- ST ol RiTgH]
c. 1920 iii. TSUS OO THIRIUR &1 13+
d. 1930 iv. SfSUA SSeyd U8 FHRN HiU¥ I 7T
fameq:

A. a(11); b(1v); ¢(1); d(n).
B. a(iv); b(i); c(11); d(1).
C. a(t1); b(1); c(iv); d(ii1).
D. a(ii); b(iv); c(iil); d(1).

3. Study the picture given below and answer the question that follows. Refer to figure 6, page no. 11,
History L1, Rise of Nationalism in Europe.
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Which of the following aspect is best signified by the given picture?
A. Diplomacy of Bismark B. Meeting of Revolutionaries
C. Conservative regimes of 1815 D. Establishment of Absolutism.

3. e fQU T oz 7 sy &9 3R I U 72 3T a1l U9 HT IR S| o7 6, gy e 11
SIA8 L1, Y H APaTE #1397 38| PaRiRa 3 2 @ U8 fu 7T o gRT 9a o

C. 1815 Dt Tigard! garyry D. FRFIa &Y =ity

The following question is for Visually Impaired Candidates only in lieu of Question No. 3.
Which among the following was the main reason for the weavers to revolt against contractors in
Silesia, in 18457 |

A. They refused to place orders for finished textiles.

B. Condition of weavers was very pitiable.

C. They stopped the supply of raw materials to them.

D. Contractors reduced the payments drastically.

4. Which of the following books reflect the plight of the ‘lower castes’ and poor in India?

1. Sambad Kaumudji 11. Chhote aur Bade ka Sawal
1i. Sachchi Kavitayen tv. Ghulamgiri
Codes:
A. 1, 11 and 1i B.1iand iv
C. 11, iii and iv D. Only iv.
4. Fafafad 8 @ o197 & s yra § R sy 3R RIS Y gdun Y g2l B
LEAE BE i B SR 9 T HaK
iii, wfﬁﬁ?ﬂ(’ iv. !]f‘ilqﬁl'\”
CACE

A. i, ii 3V i B.ii 3N iv
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C. 1, 1il 1 D. dhdd iv.

3. In which of the following districts of Rajasthan, the inhabitants of a village declared twelve
hundred hectares of forest as a Bhairaodev Dakav ‘Sanchuri’?

A. Jodhpur B. Bikaner
C. Alwar D. Sri Ganganagar.

5. TSR & Eferla 7 § few frd 7 uas i & el Y are O oy sva @) ik
SThd “Hig” Oitd fear &»

A. SR B. i1}
C. dAqT D. TR

6. Identify the type of crop with the hel p of following features:

It is an Equatorial crop, but under special conditions.
It requires moist and humid climate,

It requires rainfall of more than 200 cms.
A. Rubber B. Cotton
C. Jute D. Tea.

- 9 T 3R 3T Tearg &1 SHagadd 8y 2
-sﬁzooﬁﬁﬁmaﬂfﬁwﬁ?ﬁ%l

A. TR B. HUY
C.9c D. 91

7. Find the incorrect statement with regard to water scarcity,
A. It is an outcome of large and growing population.
B. There is an unequal access to it.

C. Despite of sufficient availability, there can be scarcity due to bad quality of water.
D. Farmers having their own wells and tube wells help to conserve water,

7. ST Dt B! & Feft T T HYT BT g7 q |

A. % 931 3R sg ot srare o1 gfivomy &
B. quq‘g?t |

C.WWIHT%@M%QWH%WW%WW@W%I
D. THHTI & U 319 U 3R cgga 13 9 Ut & e & ge frerdt )

8. Match the soil type in column A with the region/state in column B.

Column A Column B
Soil Type Region/State
a. Black Soil 1. Odisha
b. Red & Yellow Soil ii. Delta of Godavari




c. Laterite Soil 111. Plateaus of Malwa

d. Alluvial Soil Iv. Chattisgarh

A. a(in); b(iv); c(i); d.(ii)
B. a(tv); b(iii); c(i); d(ii)
C. a(iii); b(iv); c(ii); d(i)
D. a(iii); b(i); c(iv); d(ii)

8. Bl Aﬁfﬁ;ﬁimﬁmﬁﬁeaﬂmm@@ﬁaﬁl

HIaq A HIdT B

ﬁ;"rmm RIS

i, e

Zmaa;@tﬂ?ﬁﬁﬁ ii. M1l &1 Sy
dtexrze Mgt

c. T iii. ATAT & TR
d. Sdlg fogh iv. SUNG

A. a(lit); b(iv); c(i); d.(ii)
B. a(iv); b(iii); ¢(i); d(ii)
C. a(iii); b(iv); c(ii); d(i)
D. a(i1i); b(i); c(iv); d(ii)

9. Power sharing is desirable because it helps to:
A. Increases pressure on government.
B. Increase percentage of votes.
C. To generate awareness among people.
D. Reduce possibility of conflict between social groups.

9.wﬁﬂ@wm%mmmﬁmﬁaﬁé
A. PR R G1F §&dl ¢
B. AI] &1 Ufawd sear 2
C. AT N SRs & U1 2} 2
D. TN TET & sita Tey &t GHieT 9 a1t 8)

10. Which of the following is INCORRECT Statement about the ‘holding together federation’?
A. A large country divides its power between national and state government,

B. The Central governments tend to be more powertul than the states.
C. Some constituent units are granted special powers.

D. All state governments tend to be more powerful than the centre.

lo.ﬁ%ﬂgﬁaﬂ?@mﬁ%aﬁﬁmﬁﬁﬁﬁqquw%?
A. U 31 <7 3TNt UfFT 3 3R I WRBR & &l AU B 2
B. % TR I5Ul B o1 7 3 Sfrmelt gieht 2
C. TS U< TH1] B! oy wfdkrat ugm = st &
D. G I THR &g &1 o1 7 i SfFaamed 8t 2




I1. Which of the following statement is TRUE with regard to Equal Remuneration Act of | 9767
A. The law deals with family will. |

B. Equal wages for equal work for both men and women.
C. It increases the proportion of women among the highly paid jobs.
D. A radical law against the discriminatory attitude and sexual division of labour.

1. T AT SR 1976 % oy & FrafRiiRd 3 S #5991 5em T 89
A. T8 BT UIRATRS w31 I &l 2|
B.W$Wﬁﬁﬁ$ﬁﬁmﬁ HTH & folT Y07 359
C. Ug = 9 drefl N Ra! § wieenef & o & sgmar 21
D. %Wﬁﬁﬁw%%ﬁﬁﬁum?ﬁ@wwmwl

I2. Which of the following pairs in NOT correctly matched?
A. Secular State — A state with an officjal religion.
B. Urbanization - Shift of population from rural areas to urban areas.

C. Patriarchy — Rule by mother, it refers to a system that values women more and gives them
more powers.

D. sexual division of Labour — Equal division of work inside and outside the household
between men and women.

12. FEcEd & & B a1 gw adt 7 I A T Erar 2
A. YHISRUE I - U SR 4f arer <)
B. RIERTRT - Tfivy &1 & et @t & Sfraet 7 ®umieRu;
C. IO - I GRT ARTH, 98 Ueb Tt voneht o we il BT ¢ Sl Aigemait &Y aifip

I3. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the
codes provided below.

Assertion(A): Party system is something any country can choose.

Reason (R): It evolves over a long time depending on the nature of the society, social and
regional divisions, its history of politics and its system of elections.

Codes:
A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is the not a correct explanation of A.
C. A is true but R is false.
D. A is false but R is true.

13. T Y § g Sified (o) 3Tk ®1RUT (R) ¥ =4 dhfedfFmm g R Rimeses®
SR 30T I fafgd 3




@Y (A): U gorme U i g o ®1g 1} X1 T Tl 5
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A A SRR T E IR R, A BT 8! WHHUI B
B. A SRR A TT T 3R R, A BT 9E WHHU 781 B

C. A 9 ¢ AfbT R 3T B

D. A A APTRIAT!

14. Which of the following statement is INCORRECT with regard to Sri Lanka?

A. An act passed in 1956 recognised Sinhala as the only official language.
B. The Sri Lankan Tamils were given equal political rights.
C. There were 7% Christians in Sri Lanka.

D. Most of the Tamils are Hindus or Muslims.

14, SieiepT % Tey o Fofif@a & § & F I YT 7Tad 82
A. 1956 B IYd TF AT 3 Rige & TeAE USRS HIS & =4 7 H-dT &l
B. Hicichis dAffic] P! YHM JeHifde HfUDR fCT Y|
C. SiddT A 7% T91% U
D. 3w aftret figg o gaemH 8t

15. Study the given table carefully and analyse, which country has the third best gross national
income (GNI) per capita. (Refer to table 1.6, page 13, Economics, L.1- Development)

A. India B. Pakistan

C. Bangladesh D. Nepal

5. €Y 1S Rt BT Tdd ST B AR Ay &1 i {69 qu &1 Uid safed Yobd AP
3T (GNI) TR o 381 ¢ | (1T 1.6, U 13, (22, L1- [achTd <)
A. HRA B. I
C.SIGRT  D. Auid

16. The type of unemployment in which more number of people work than actually needed 1s known
as

A. Disguised unemployment. B. Seasonal unemployment.
C. Underemployment. D. Overemployment.

16. ST BT 98 UHR Forgd IRad H§ agHdl ¥ e an &H H3d 8, 39
P U H ST STaT 8}




A. U89 SRIGTRY | B. FIdt ST )

C. 3 SR | D. 3qIY® ISR
I'7. The goods that are used in producing final goods and services. Choose the correct answer from
the options given below. .

A. Consumer Goods. B. Final Goods.

C. Intermediate Goods. D. Material Goods.

A. The deposits of members are used as collateral by co-operatives to obtain large loans.
B. Co-operatives provide interest free loans to its members.

C. They provide loans for purchase of agricultural implements.

D. The funds are used to provide loans to members.

«swﬂﬂﬁrﬁﬁ@m%ﬂﬁaﬁfrﬁmawnwmmﬁwgﬁl
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C. AP IuproT &1 e & Ry 7 v et 2)
D. [feR &7 ST el B B U e [T fosgT ST 2

19. Which of the following connects the countries across the world with each other?
A. Geography B. Investments.

C. Technﬂlﬂgy D. Movements of Goods and Ser vices,
Codes:

1. A and C

ii. A, Band D
iit. Band D

. B, Cand D.

19. THERIRET # q 19 g1 1R & 220 ) T TR | SiedT 2
A. IR B. Fdw|




C. Urefirept D. IXG31 3R Jarsif BT raragt)

i. AR C
ii. A,B3RD
iii. B 3R D
iv. B, C 3[R D.

20. Consider the statements given below and choose the correct answer.
Statement I: The Reserve Bank Of India issues currency notes on behalf of the central

government.
Statement II: As per Indian law, any individual or organization is allowed to issue currency.

A. Statement I is correct and 11 is incorrect.
B. Statement I is incorrect and 11 is correct.
C. Both I and II are incorrect.

D. Both I and 1! are correct.

20. 714 QT MY Her} o) R ¥ 3k wedt 3er )
BU I HRAIT R o &g IWPR &1 ok I p3et Ae 71t e gl
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B. HY 1 70d & iR 11 98} 8
C.1 3R 11 I 7Tefd &)
D. 1 3R 11 ) &t &
SECTION B/ @E &

Very short answer questions/ 3{fd TY SR UY 2x4=8

21. Study the given picture carctully and answer the questions given below. (Refer to the picture
given on page no. 6, DP, L 1-Power Sharing)

Bty the Reaw

A. With which country the given picture is related to?
B. Which problem is being referred to by the given illustration?

21. TQU U fors o1 enigdles aea &% qur 19 Re 1o usi & oo <1 (U8 9T 6, DP, 1,1-G1GT
R O few e fort ot wgaf _

A. T fat for 3 © e 29

B. Ta¥ T R a7 fore wvvea o1 Ieoie fasay o vy 2




22. What did liberalism stand for the new middle classes and what did it emphasized politically in the
carly 19" century Europe?

22. T AW o & U SaRaTE 37 91 T U7 3 199 el & SRY H gy B 393 T
¥U Y fb g a9 ) ok f2gp

23. What do you understand by Geo-thermal Energy? Name ary one place in India where
experimental project has been setup to harness geo-thermal energy.

23. AT Sorl § 39 o7 g & HIRT H [l U W &1 11 9aTs oigt 3. a1t o)
qﬁsﬂimmuﬁu’l@mwﬁaﬁﬂﬁl

24. Shanta is a domestic worker who lives in a slum with her two children. In context of the given
situation what will be two developmental goals for Shanta? -

24.mwmqw%ﬁmaw%muwawﬂw]mﬁ%aaﬁﬁﬁrﬁ%%ﬁ
H AT & T &t faerareres aeg sar gt

SECTION C/ @3 1t
Short Answer questions/ g ST WY 3x5=15

26.
9. (A) Banks are present everywhere, but it is very difficult for poor households to get loan from the
bank than taking a loan from informal source? Why is it s0? Mention three reasons.

OR
(B) What is meantl:% informal sources of credit? Mention two drawbacks of this system.

S &R S5 HING §, A TR URaR) 3 Ry IR Hd T B0 o B gamT & S § By
YW DT dgd Bid 87 T 7 30 T oot sarew)

37YaT
BUF &Hﬁwﬁas@ﬁ@rwmmﬁ%?wuﬂwﬂﬁﬁmwsm

27. Analyze the reasons why the government launched Project Tiger in 1973. Give names of two
tiger reserves in India,

3 PR & IV 63 5 TWHR T 1973 T Tiige CIR'R I = {41 HRI T &1 979
SHARUYG| & 11 JaTST|

28. Mention any three features of Secularism described in the Indian Constitution.

lﬁ?ﬁﬂ#ﬁaﬁﬁaﬁhuﬁﬁﬁmﬁaﬂé?ﬁﬁﬁmﬂqwsm




29. The graph given below shows the share of sectors in employment (%) . this is shown for two
years 1977-78 and 2017-18. Analyze the data provided and answer the following questions.
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a. Which sector has the lowest percentage in 1977-789
b. What is the trend of the primary sector’s share in employment from 1977-78 to 2017-182
Explain the reasons for this trend.

29. A1 o o T ISR B a5 ) e (%) TRATE | T§ & a8 1977-78 3R 2017-18
%%ﬂﬁ@mm%lﬁqw@amﬁr&waﬁaﬁ?ﬁaﬁr@auﬁ$wil

( Refer for graph to hindi pdf)

T 1977-73 H {9 &9 &7 ufaed 999 &7
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SECTION D 5X4=20
LONG ANSWER BASED QUESTIONS
s Y 5X4=20
al" I 3remia Uy

30. (A) What led to the colonial government to pass the Vernacular Press Act in 18792 How
did it effect the vernacular newspapers?
OR
(B) “From the late 19th century, issues of caste and class discrimination began to be written
about in many printed tracts and essays.” Support the statement by giving suitable

examples.

30. (A) AMUFRRT TR S 1870 o aterTer D gae i S f3eme 3R7T R 7o)
& GHIEIR-UST IR 7 TUTd IS

3HyaT
(B) “1991 TrdTsd] & STRTY ¥, AT HaHTd & e W € gid 2ae ok e R
ST T ST FET6RUT ST 5T BYT 6] T 33|

31. (A) Which is the most abundantly available fossil fuel in India? Assess the importance of
its different forms. |

OR



(B) “There is a pressing need for using renewable energy resources in India.” Justi fy the
statement.

31 (A) YR H Y TR WA FUeTey Sared $e o1 91 82 g i &0t ¥ e
&1 3Th el P |
S

(B) “HRd H Tl uiia St Taremi & 3990 &t 3rafis smazasa; 81" YT P
gie |

32. (A) lustrate the situations which display lack of internal democracy within a political

party.
OR
(B) Exhibit the role of money and muscle power among the political parties during the
elections.

32. (A) 3 T b1 Tum &% St fobed} wroriifirs ea & iR sifafve des B| U BT
PANGE TG

YT
(B)W%éﬂﬂﬂﬁﬁﬁﬂ%ﬁamaﬁ?a@wﬁ@maﬁuﬁhﬁl

33. (A) ‘Workers are exploited in the unorganized sector.” Give reasons to support this
statement.

SHYT
(B) mﬁwﬁﬁ‘rﬁ&rﬁmwnm%&w%@rqﬁﬁm ol & d &2
SECTION E 4X5=]2

CASE- BASED QUESTIONS
34. Read the source given below and answer the questions that follow:

Following the defeat of Napoleon in 1815, European governments were driven by a spirit
of conservatism. Conservatives believed that established, traditional institutions of
state and society — like the monarchy, the Church, social hierarchies, property and the
family — should be preserved. Most conservatives, however, did not Propose a return
to the society of pre-revolutionary days. Rather, they realized, from the changes
tnitiated by Napoleon, that modernization could in fact strengthen traditional
Institutions like the monarchy. It could make state power more effective and stronger,
A modern army, an efficient bureaucracy, a dynamic economy, the abolition of
feudalism and serfdom could strengthen the autocratic monarchies of Europe.

34.1 What do you understand by the term conservatism? (1)

34.2. According to Conservatives what should be preserved? (1)
34.3. What changes were initiated by Napoleon could strength the autocratic monarchies of

Europe? Mention any two. (2)



34, 413 g 1o i 1 ug AR g Ay T uH & ST < | .
1815ﬁ#¢rﬁ1ﬂ?3ﬁmﬁw,@tﬁﬂm$ﬁmaﬂmﬁﬁﬁﬁtﬁlQ?Féﬁlﬁ@rﬁ
e B <rea iR TS A =ife, aRafe TR - S Jerel, 2

T UeTEH, Hufy SR URaR - o TRfé far S =neel gTalfdb,
ety wieareal % ud-wifter et & T # el BT Uwdrd Tel 31| Jie,
32 A0REE ERT IR 9T e uRadHl § wegd faa i snyfeiso arad |
ISETE S TRuRE T3 Bl Heled B GHdl 5| T8 Y Pl fad Pl UP
g SR FoTEE S Hebdl 8| Ueh 1efId BT, U SR A1, TP T
&rﬁwagﬂ,maaﬁﬁ?mml I e TR & FRG ISTcaN Bl TS B
dbdl el

34,1 TS Teg W 31T T JHEA 82 (1)

34.2. TSl & SR o TRiér far S =nee? (1)

34.S.WWWEWﬁ@WW$WWﬁﬁHWWWW

35. Read the source given below and answer the following questions.

Organic chemicals include petrochemicals, which are used for manufacturing of synthetic
fibers, synthetic rubber, plastics, dye-stuffs, drugs and pharmaceuticals. Organic
chemical plants are located near oil refineries or petrochemical plants. The chemical
industry is its own largest consumer. Basic chemicals undergo processing to further
produce other chemicals that are used for industrial application, agriculture or directly
for consumer markets. The fertiliser industry is centered around the production of
nitrogenous fertilisers (mainly urea), phosphatic fertilisers and ammonium phosphate
(DAP) and complex fertilisers which have a combination of nitrogen (N), phosphate
(P), and potash (K).

35.1 Which of the given fertilizer compound of complex fertilisers is not found in India?

(1)

35.2 What industry is its own largest consumer? (1)
35.3 What are organic chemicals used for? Mention any four.  (2=1/2 mark each)

35. T R e dia &1 ue 3k FRufefaa ugl & SR ¢

HIa® 9T § UeibiHe e Qi 8, ot 3w Ridice wgeR, ffufe® I,

s, YA, garel sk prifede & fAafu & ferg favar o B
TS T U3 gd Regaia) a1 idis e I3 & U fRud €| TuRiHe
TN SO T ST SUHIST 8| FaTE! TR B TEDpRUT & HieH o 3
3T AT T ImeT faa ST € RorresT Suai 3fieifies srguen, Hiv ar did
UL ITeTRT & forg fohar oiTar 8 | SR FENT ATgC o Javei (H8T U ¥
g, WIS TdR®! SR SHIFTH BiRbe (S1qUl) 3R Sicd IRDI &
IATE & AU Pfed g ol Tgdom (@), Bidke (), 3R Wer (&) @l
g gl g

35.1 Sifed Saab] & feT 17T 33 Giffien! Hf ¥ i IT HRd H -Ta! Urdl &iTell 82(1)

35.2 I 1 IR ST T ST IUHET 82 (1)




15 3 BIdRE TR BT SuaT g g v srar 32 il IR &1 Swie hil (2=1/2
3 UUP) |
36. Read the source given below and answer the questions given below:
The Indian government, after Independence, had put barriers to foreign trade and foreign

‘vestment. This was considered necessary to protect the producers within the country
from foreign competition. Industries were just coming up in the 1950s and 1960s, and
competition from imports at that stage would not have allowed these industries to
come up. Thus, India allowed imports of only essential items such as machinery,
fertilisers, petroleum etc. Note that all developed countries, during the early stages of
development, have given protection to domestic producers through a variety of means.
Starting around 1991, some far reaching changes in policy were made in India. The
government decided that the time had come for Indian producers to compete with
producers around the globe. It felt that competition would improve the performance of

producers within the country since they would have to improve their quality. This
decision was supported by powerful international organisations. Thus, barriers on

foreign trade and foreign investment were removed to a large extent. This meant that
goods could be imported and exported easily and also foreign companies could set up

factories and offices here. |
36.1 Why did Indian government put barriers to foreign trade and foreign investment atter

independence? (1)
36.2 Give a list of items that were allowed by India to import after independence. (1-1/2+1/2)
36.3 “Starting around 1991, some far reaching changes in policy were made in India’.

Mention any two. (2)

36. 19 U T Hid &1 U2 3R A feu T usi & SR <

AT g, HRd TRER 7 A= =R 3k e A R @y i g1 qu s
Saes] @ el ufenyf & sam & e gg ma<ge |1 T ATl 1950 3R 1960
¥ agre T gaT aiftanh IR TR € 3R I U T 9 84 aTd] Ufdeayt 4 37
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SECTIONF
MAP-SKILL BASED QUESTION 5(2+3)
37.1 Two places A and B have been marked on the given outline map of India. Identify them
and write their correct names on the lines drawn near them.
A. The place where Non-Cooperation movement was called off Chauri-Chaura incident

took place.
B. A place where the Congress session took place in December 1920.
37.2 On the same outline of India focate and label any THREE of the following with suitable

symbols.
1. Bhakra Nangal dam (locate and label)
ii. Identify the major sugarcane producing state.
1. Kochi port (locate and label)
Iv. Chennai Software Technology Park

oG K
HAfA-HIRe e uy 5(2+3)

37.1 HRA & AU 1Y et Afes R € R A 3R B sifdre fru e R 3% UgdH 3R
3% URY Wit 1S Y@neii W 3 wet A ol

i. 98 R 95T GRI-ERT &1 g1 g3 )

ii. 9% R ST [GHaR 1920 H BI0N &7 AT garm am)

37.2 W%B@ﬁ%@mﬁawmﬁ@ﬁ?ﬁ?ﬂqaﬁm’mﬁﬁﬁ%ﬁaﬁ
3R ITT M g

L. HTREST - TRTS ST (R fRIfgd $¢ 3R =17 )

ii. U T TGP 5T D UgT P |

ii. P YT (R fafgd »¥ 3R 19 7

iv.%]ﬂ‘s‘“emu?é?ﬁaﬁﬁm%




el . :

L. Wi, W INDIA |

P g QUTLINE NAP VWITH STATES |

3 \"J gt & LENIOM TERRITORIES
:

[T T S p—

A

Pdr o8 b Faal

R
T — A T COm TIph: 4202 W MARsIBHCIE Sam :
ool CEASOETL dRhdime S R L S T R PR e T e PP J




